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X_test = []

for sentence in test_data[ 'review']:
temp_X = okt.morphs(sentence, stem=True) # £=3}
temp_X = [word for word in temp_X if not word in stopwords] #
X_test.append(temp_X)

print(X_test[:3])

=80 A~

[ [' EI_. -HHI-EEI_- |j|_u:||:|_|’ '0=||E|:|":|,
[ofo]', 'Kk, HECE, "ECt],

[HHAI 'HHI'EE.I" |;<|:|_|’ |A|.:|:|:| ||:||.|:|_| IDHOI ||:||_ -l-|_|:|_| I*HE' le:“ '0||:||:||:_|-’ |9_”0|i1’
IDI_OI ||:|:|_| ||:|_|:||_| 'JHO|" |x_.|||, l%gl’ |b|0||:|_l’|§_g_|’ l-éélgl:l_l IX'il |A|]IH_|_|_|:|_|’ qﬂx__"l’

oIk, m=, =, o, 2olct], -]



2-3 Xi0] Xz2|

A
4 lag

HAES A2 Meot=5 &3 HO|E2} B|IAE HO|E0]| F= Q12T S

SH
=)

tokenizer = Tokenizer()
tokenizer.fit_on_texts(X_train)

print(tokenizer.word_index)

{'ECH: 1, BHiS" 2, "t 3, "UCH": 4, "KIC: 5, 'MIF" 6, "2t 7, WL} 8, 'ALE": 9,
L2110, "=ICH: 11, 00 12, "2 13, 20 14, Q0 15, 'QIE: 16, '0lct: 17,
'OF: 18, 'MLF: 19,'R" 20, 'Ol 21, "QUTF: 22, "AWC: 23, 1" 24, 'St 25,
RERSICH: 26, 2" 27, 'F2" 28, I 29, '2H: 30, -}
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print('2|&29| = Z0| :',max(len(l) for 1 in X_train))
print('2|E9o| HA Z0| :',sum(map(len, X_train))/len(¥_train))
plt.hist([len(s) for s in X_train], bins=50)

plt.xlabel(' length of samples')

plt.ylabel( number of samples’)

plt.show()

2|50 =i Zo| : 1141
g2l5e B4 Z0| : 33.27797026936403
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length of samples

max_len = 100
below_threshold_len(max_len, X_train)

HA M= = 20|17} 100 0|52l M=9| H|E: 91.17022465630937
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threshold = 3 print('2|&29| = Z0| :',max(len(l) for 1 in X_train))
total_cnt = len(tokenizer.word_index) # S/o/9f =+ print('2|52| B Z0| :',sum(map(len, X_train))/len(X_train))
rare_cnt = @ # 5& H £ £7F threshold2of &2 Sofof Ff+= F1.2E plt.hist([len(s) for s in X_train], bins=50)
total_freq = 0 # Z& GO/E/of HA Hof Hle+ £ & plt.xlabel('length of samples’)
rare_freq = 0 # 5& =27} threshold2Cf &2 SrHo S& HigL0/ = 5f plt.ylabel( number of samples')

plt.show()

# Ho/of =9 H(pair)E keySf value= Er=Cf.
for key, value in tokenizer.word_counts.items():

2|20 o 2o : 1141
total_freq = total_freq + value

g2l5e B4 Z0| : 33.27797026936403

# Htofof 53 8leL7F thresholdECf &0 O

if(value < threshold): 5000 1
rare_cnt = rare_cnt + 1
rare_freq = rare_freq + value

number of samples
<1
[=]
[=]

# J3 Jof A+ & Bles 2 0fof2 Jof= AlA
# 0¥ mjg £32 1230 +1

vocab_size = total_cnt - rare_cnt + 1 |
print("T{ #Eel 37| : ", vocab_size) 0

0 200 400 600 800 1000
= | h of |
O #ghel 37|« 5092 ength of samples

max_len = 100
below_threshold_len(max_len, X_train)

HA M= = 20|17} 100 0|52l M=9| H|E: 91.17022465630937
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3-2RNN

def vanilla_rnn():
model = Sequential()
model.add(SimpleRNN(units=50, input_shape=(100, 1), return_seguences=False))
model.add(Dense(1, activation="sigmoid'))

from sklearn.metrics import confusion_matrix
y_pred = model_rnn.predict(X_test_rnn)
print{confusion_matrix(y_test, y_pred))

es
mc

EarlyStopping(monitor="val_loss', mode="min', verbose=1, patience=4) . . .
ModelCheckpoint('GRU_model.h5', menitor="val_acc', mode='max', verbose=1, save frgm Sklearp.metr%cs import classification_report
print(classification_report(y_test, y_pred))

model.compile(optimizer="rmsprop', loss='binary_crossentropy', metrics=["acc'])

320273202 [ 1 - 55 Zms/step
return model [[ 388 1331]
[ 203 1368]]
precision recall fl-score  support

model_rnn = KerasClassifier(build_fn=vanilla_rnn, epochs=28, batch_size=50, verbose=1) 0 0.60 0.19 0.29 1639
model_rnn.fit(X_train_rnn, y_train, epochs=15, callbacks=[es, mc], batch_size=68, valid 1 @‘51 B.B? @.64 1563
»

accuracy 0.52 3202
Epoch 00004: val_acc did not improve from 8.76693 macro avg .55 0.53 0.46 3202
Epoch 5/15 weighted avg 0.56 0.52 0.46 3202
6020/6020 [ 1 - 35 529us/step - loss: @.6818 - acc: 0.560
1 - val_loss: 0.6819 - val_acc: 0.5664
Patience : ZZ O|0|E{ &2A0| 43| S5 at52 X0 |E=2 L )

° °nE ° Train H&tE 56% | Test M&E 52%

Epoch : 208 =38
batch_size : 2F G|O|E{2| AFO|= 50

Validation_split : 2ZH|0|E & 20E 25 ZSH|0|E2 AR

OF

F1-score (label 0) 29%

RNN2 274 2|7 st50lM g5 0IE

Hett OF 82%, loss 2F 38%Q1 4HHM| R =HY
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model_GRU = Sequential()
model_GRU.add(Embedding(vocab_size, 100))
model_GRU.add({GRU(128))
model_GRU.add(Dense(1, activation="siomoid'))

es
mc

EarlyStopping(monitor="val_loss', mode="min', verbose=1, patience=4)
ModelCheckpoint('GRU_model.h5', monitor="val_acc', mode='max', verbose=1, save_bes

model_GRU.compile(optimizer="rmsprop', loss='binary_crossentropy', metrics=["acc'])
history_GRU = model_GRU.fit(X_train, y_train, epochs=15, callbacks=[es, mc], batch_size

3

Epoch 1/15
6020/6020 [ 1 - 855 l1dms/step - loss: @.5650 - acc: 0.712
1 - wval_loss: ©.4860 - val_acc: 0.7669

Epoch @@001: val_acc improved from -inf to ©.76693, saving model to GRU_model.hs

Patience : ZZ H|0|E{ &A0| 43| Z7f6tH ot&58 DI |ERE
Epoch : 158 =31

batch_size : 2} H|0|E{2| A{O|= 60

Validation_split : 2HC|0|E & 2025 HBHO|HE AL

M3 9F 71%, loss 2F 56%Q1 1HIm| 2 & sk

from sklearn.metrics import confusion_matrix
y_pred = model_GRU.predict(X_test)
y_pred_ = []

for i in range(len(y_pred)):
if y_pred[il[e] > @.5:
y_pred_.append(1)
else:
y_pred_.append(d)
y_pred_

print(confusion_matrix(y_test, y_pred_))

from sklearn.metrics import classification_report
print{classification_report(y_test, y_pred_ ))

[[1e6g 570]
[ 283 1280]]
precision recall fl-score support

] .79 @.65 8.71 1639

1 B.69 @.82 @.75 1563

accuracy 0.73 3202

macro avg @.74 @.74 @8.73 3202

weighted avg 0.74 8.73 a.73 3202
Train B=tE 71% | Test H=tE 73%

F1-score 71%

RNNEZZoj| H|3l label 02 O & 22



3-4 LSTM

model_lstm = Sequential() from sklearn.metrics import confusion_matrix
model_lstm.add(Embedding(vocab_size, 100)) y_pred = model_lstm.predict(X_test)
model_1stm.add(L5TM({128)) y_pred_ = []

model_lstm.add(Dense(l, activation="sigmoid"))
for i in range(len(y_pred)):

es = EarlyStopping(monitor="val_loss", mode="min', verbose=1, patience=4) if y_pred[il[@] > ©.5:
mc = ModelCheckpoint('best_model.h5', monitor="val_acc', mode='max', verbose=1, save_be y_pred_.append(1)
else:
model_lstm.compile(optimizer="rmsprop’, loss='binary_crossentropy', metrics=["acc']) y_pred_.append (@)
history_lstm = model_lstm.fit(X_train, y_train, epochs=15, callbacks=[es, mc], batch_si y_pred_
5 print{confusion_matrix(y_test, y_pred_))

Epoch 4/15 from sklearn.metrics import classification_report
6020/6028 [ 1 - 685 10ms/step - loss: ©.3896 - acc: 0.823 print{classification_report(y_test, y_pred_))

3 - val_loss: ©.4824 - val_acc: @.7769
[[1171 4&8]

Epoch @0004: val_acc improved from ©.76560 to @.77689, saving model to best_model.hs [ 367 1196]]
precision recall fl-score support

0 0.76 0.71 0.74 1639
1 0.72 0.77 0.74 1563
Patience : 25 H|0|E £AI0| 43| £716tH &8 XI|ERE
: e accuracy 0.74 3202
Epoch : 158 o8 macro avg 0.74 0.74 0.74 3202
batch_size : 2 HIO[E{S| AfO|= 60 weighted avg 0.74 0.74 0.74 3202
Validation_split : E#C]0|Ef & 20225 HEH0[HZE ALE s s
P - 0° ° Train MEHE 82% | Test HEHE 74%

F1-score 74%

RNN / GRU 220j| H[s 2 GISE >>> B MH

HSHE OF 82%, loss O 38%0! 4N DT 5Hy
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plt.figure(figsize=(12, 18))
ratio = [len(df_apple), len(df_samsung), len(df_xiaomi) ]
labels = ["apple","samsung", "xiaomi"]

plt.pie(ratio, labels=labels, autopct="%.1T%%', startangle=266, counterclock=False)
plt.show()

print('H&g| & HAEZ MEZEo0| JH4 ', len(df _apple)+len(df_samsung)+len{df xiaomi))

Hx2| 2 HIAES MEQ| I 1 4272

TH2I(%)

Hlo|8] 7HH (xiaomi) G0|E{2] Zo| 22

& 2 o]

number of samples

5]

8

o

L — T T T T T
000 2000 000 4000 5000 600D 7RO
length of samples

: 367.8029556650246

o| jc||:H 20| : 23341
. . . . : 335.18
000 4000 a0 =00 10000
length of samples
| o|e] Z}H|isamsung) §0|E{2] Zo| 2=
50 SAMSUNG
00
i 50
£
o
E 150 4
m E|1'?'r°| *|EH Z0| : 7624

Yol 7tH (apple) Hl0[E 2| Zo| 2=

g
g

8

8
g

g
g

number of samples

8B k8 8

=

=000 10000 15000 20000
length of samples

EI1'=.—’°I *IEH 20|

- 11025
: 984.2993311036789
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S label  ©.000000 label  0.000000 label g-?gg?gg
score_14st = [] ziore fla.§21632 ziore fla.igEEBB 3?3;5_ floét64
I TEAED AL MR LE . 3 1a§2‘f SE.)@@B@BB 1%5? Te@a@@@ label  1.000000
e i . score  0.863782 score  0.874746 score  0.901951
new_sentence = [word for word in new_sentence if not word in stopwords] # =&20f 47 dtype: floatea dtype: float6a dtype: floatsd
encoded = tokenizer.texts_to_sequences([new_sentence]) # &=+ 9/ 5 label ccore label score label score
pad_new = pad_sequences(encoded, maxlen = 100) count 2250.000000 2250.000000 count 1421.000000 1421.000000 count 598.000080 598.000000
score = float(model_test.predict(pad_new)) [mean 0.658222 __ 0.639320] [mean 0.695285 _ 0.671657 | [mean  0.789298  0.753660 |
if(score > 0.5): std 0.474411  0.344702 std 0.460449  0.338299 std 0.208143  0.313595
Label.append(1) min 0.000000  0.002578 min 0.000000  0.002628 min 0.000000  0.002463
score_list.append(score) 25% 0.000000  0.318488 25% 0.000000  0.372983 25% 1.000000  0.605136
else: 50% 1.000000 0.768040 50% 1.000000 0.823559 50% 1.000000  ©.918632
Label.append(0) 75% 1.000000  0.961851 75% 1.000000  0.966880 75% 1.000000  0.974123
score_list.append(score) max 1.000000  0.999201 max 1.000000  0.998767 max 1.000000  ©.998602

xiaomi_score = pd.DataFrame([label, score_list]).T
xiaomi_score.columns = ["label”, "score"] 4

print(xiaomi_score[xiaomi_score["label"]==0].mean()) —h.'—’é'. (Score < 05) %’g (SCOFG > 05)
print{xiaomi_score[xiaomi_score["label"]==1].mean(}) \

print(xiaomi_score.describe())

label 0.000000

score  0.207032 o= AbM AR0O|
dtype: floate4d

label  1.000000

score  0.863782 IR HIE 2565 : 35 8% 2X70 : 3054 2™ 78 : 228X
dtype: floated
label score Score B 240.86:0.2 2H 240.87:0.28H 2809 : 0.19 ¥4

count 2250.000000 2250.000000

mean 0.658222 0.639320
std 0.474411 0.344702
min 0.000000 0.002578
25% 0.000000 0.318488
50% 1.000000 0.768040 Ix
715% 1.000000 0.961851 *Fgul > f:l.*c.)l > OHE
max 1.000000 0.999201
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apple E0IE|2] Lo| B i
plt.figure(figsize=(12, 10)) - [ ¢
ratio = [] i
labels = [] 5
for word in df["company"].unique(): £ am

ratio.append(len(df[df["company"]==word])) Z"“
labels.append(word) @
plt.pie(ratio, labels=labels, autopct="%.1f%%', startangle=260, counterclock=False) 20 2|59o| X|cf Z210] : 2305
plt.show() ~ _ ] o gl5o| ™M 20| : 41.45414326191778
print("dx2| & HAEE HEZ9| Ji+ :',sum(ratio)) Sh—en . ob #n oo
i samsung G0|E{2| Zo| 2=
Xz £ HIAER MEO| Il : 51278 SAMSUNG

number of samples

. 2|F2| Z|cf 2O
I

2|7e| i 20

- 3778
1 47.91939734473671

a 500 1000 1500 2000 2500 3000 300
length of samples

xiaomi GO|E{2| Ha| 2=

§

g

number of samples

g

2|50l £|c 20| : 2609
L 2|80 ™A 20| : 39.46850678733032

0 o 1000 1500 200 =00
length of samples

g
2

e
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from keras.models import load_model
model_test = load_model('model_lstm.h5")

def sentiment_predict(new_sentence):
new_sentence = okt.morphs(new_sentence) # £=3/

new_sentence = [word for word in new_sentence if not word in stopwords] # &0/ A

encoded = tokenizer.texts_to_sequences([new_sentence]) # &=~ O/F5
pad_new = pad_sequences(encoded, maxlen = 100) # Zf5
score = Tloat(model_test.predict(pad_new)) # Gj=
if(score > 0.5):

print("{:.2f}% =2 24 g|EYUL|C}t.".format(score * 100))
else:

print("{:.2f}% B E2 BA 2|EL|Ct.".format((1 - score) = 100))

df["review"][0]

‘TYs YR =AW o4

=]

o

rir

SHY B MAI=HAFH 07t =0t 2o SREEUCH

sentiment_predict(df["review"][0])

53.79% TEZ 2 g|EYLLCt.

label = []

score_list = []

for review in df[df["company”]=="apple"]["review"]:
new_sentence = okt.morphs(review) # £=25/

new_sentence = [word for word in new_sentence if not word in stopwords] # =S&£0¢f AA

encoded = tokenizer.texts_to_sequences([new_sentence]) # &=t o2/75
pad_new = pad_sequences(encoded, maxlen = 100)
score = float(model_test.predict(pad_new))
if(score > 0.5):
label.append(1)
score_list.append(score)
else:
label.append(@)
score_list.append(score)

apple_score = pd.DataFrame([label, score_list]).T
apple_score.columns = ["label”, "score"]

/s

apple_score.describe()

SAMSUNG

samsung_score.describe()

xiaomi_score.describe()

label score label score label score
count 20117.000000 20117.000000 count 20111.000000 20111.000000 count 11050.000000 11050.000000
mean 0.421683 0.464113' | mean 0.394461 0.441921 | | mean 0.365520 0.417977
std 0.493841 0.304285 std 0.488747 0.306040 std 0.481598 0.286300
min 0.000000 0.000294 min 0.000000 0.001033 min 0.000000 0.000631
25% 0.000000 0.204277 25% 0.000000 0.172755 25% 0.000000 0.171708
50% 0.000000 0.411476 50% 0.000000 0.38235%9 50% 0.000000 0.361418
75% 1.000000 0.736177 75% 1.000000 0.708176 75% 1.000000 0.644604
max 1.000000 0.999599 max 1.000000 0.999583 max 1.000000 0.998846
B (score <0.5) 2% (score > 0.5)
IT
o] 1E=3 AbM Afe0O|
o .
3EMHE | 342 : 588% 3539 : 6158% 3% 36 : 645H

Of
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> Afen|
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M1 apple
label 0.000000
score 0.239886
dtype: float64
label 1.000000
score 0.756351
dtype: floated
label
count  2664.000000
mean ©.394895
std 0.488920
min ©.000000
25% 0.000000
50% ©.000000
75% 1.000000
max 1.000000
42 A|7|0] samsung
label 0.000000
score 0.223804
dtype: floated
label 1. 000000
score 0.760232
dtype: float64
label
count  1975.000000
mean 0.346329
std 0.475920
min 0.000000
25% 0.000000
50% 0.000000
5% 1.000000
max 1.000000
Aoz xiaomi
label 0.000000
score 0.223597
dtype: float4
label 1.000000
score 0.733945
dtype: float64
label
count  1499.000000
mean 0.346898
std 0.476142
min 0.000000
25% 0.000000
50% 0.000000
75% 1.000000
max 1.000000

score
2664.000000
0.443835
0.290931
0.000294
0.200231
0.388998
0.680971
0.997786

score
1975.000000
0.489585
0.292863
0.003022
0.158854
0.341415
0.647948
0.997394

score
1499.000000
0.400635
0.281695
0.901102
0.162116
0.343649
0.622508
0.993839

B
label
score

dtype:

label
score

dtype:

count
mean
std
min
25%
50%
75%
max

=

apple
0.000000
0.242141
floated
1.000000
0.792609
floated
label
2451.000000
©.498164
©.500009%
0.000000
0.000000
0.000000
1.000000
1.000000

AR samsung
label 0.000000
score 0.231957
dtype: floated

label 1.000000
score 0.785557
dtype: floated

count

mean
std
min
25%
50%
75%
max

label
3715.000000
0.433109
©.485572
0.000000
0.000000
©.000000
1.000000
1.000000

ARD0|Z xiaomi

label 0.000000
score 0.235623
dtype: float64
label 1.000000
score 0.749864
dtype: float64
label
count  3592.000000
mean 0.394209
std 0.488748
min 9.000000
25% 9.000000
50% 0.000000
75% 1.000000
max 1.000000

2451.

cooooo®

3715

3592

coococooo

-

score
000000
516365
311318
006728
240062
496348
817271
998983

score

-00o0e00
0.471726
0.310139
0.002556
0.
(]
(]
(]

201500

416459
. 758837
999408

score

000000

438342
290123
081124
185783
392989
677632
996894

(=
=

0l0i%t apple

Llabel
score

dtype:

Llabel
score

dtype:

count
mean
std
min
25%
50%
75%
max

0.000000
0.21999%
float64
1.000000
0.736549
float64
label
3775.000000
0.305960
0.460874
0.000000
0.000000
0.000000
1.000000
1.000000

ZEA| samsung
label 0.000000
score 0.227785
dtype: floated
label 1.000000
score 0.766739
dtype: floate4

count

mean
std
min
25%
50%
75%
max

label
3284.000000
0.399817
0.489933
0.000000
0.000000
0.000000
1.000000
1.000000

score
3775.000000
0.378043
0.277886
0.001840
0.140239
0.308940
0.571305
0.998588

score
3284.000000
-443268
-301254
-002040
179190
-301075
707962
-998436

=

cooooo

MO FH=E  xiaomi

label
score
dtype
label
score
dtype

count
mean
std
min
25%
50%
75%
max

0.000000
0.243046
: floates
1.00000
0.75153
: floated
label
1467. 000000
0.4055%0
0.491173
0.000000
0.000000
©.000000
1.000000
1.000000

score
1467. 000000
449282
288468
0082429
204926
407806
682368
997976

cCoo oo oo

Ofo|Ei = apple

label
score
dtype:
label
score
dtype:

count
mean
std
min
25%
50%
75%
max

ZHEH
=5

mean
std
min
25%
50%
75%
max

mean
std
min
25%
50%
75%

0.000000
0.245622
float64
1.00000
0.82697
floate4
label score
3563.000000 3563.000000
0.591075 0.589242
0.491704 0.320734
0. 000000 0.002047
0. 000000 0.307106
1.000000 0.626519
1.000000 0.904676
1.000000 0.999599
Samsung
label 0.000000
score 0.222832
dtype: floated
label 1.000000
score 0.815007
dtype: floate4
label score
count 3837.000000 3837.000000
0.518634 0.529954
©.499718 0.330402
0.000000 0.001864
0.000000 0.222664
1.000000 0.528763
1.000000 0.862163
1.000000 0.999583
oflfo] &= xiaomi
label 0.000000
score 0.212903
dtype: float64
label 1.00000
score 0.73134
dtype: floate4
label score
count 721.000000 721.000000
0.317614 0.377566
0.465872 0.280211
0.000000 0.002888
©.000000 0.139912
0.000000 0.308741
1.000000 0.581002
1.000000 0.996066

max

| OIS > &d > At

OFOIZ  apple

label 0.000000
score 9.238112
dtype: float64
label 1.000000
score @.752589
dtype: float64
label score
count 3976.000000 3976.000000
mean 8.375503 0.431300
std 0.484313 0.288270
min 0.000000 0.901541
25% 0.000000 0.197092
50% 0.000000 0.372581
15% 1.000000 0.635108
max 1.000000 0.998580
B Z2t0|E samsung
label ©.000000
score 0.230694
dtype: floated
label 1.000000
score 0.743343
dtype: floate4
label score
count 4143.000000 4143.000000
mean 0.336230 0.403062
std 0.472476 0.282337
min 0.000000 0.081033
25% 0.000000 0.163200
50% 0.000000 0.348822
75% 1.000000 0.606500
max 1.000000 0.997306
Oj¥ic xiaomi
label 0.000000
score 9.221195
dtype: floated
label 1.000000
score 9.725211
dtype: floated
label score
count 2235.000000 2235.000000
mean ©.286353 0.365522
std 0.452158 0.268025
min 0.000000 0.002086
25% ©.000000 0.134794
50% 0.000000 0.308741
75% 1.000000 0.548272
max 1.000000 0.996175

O E2 apple
label 0.000000
score 0.240979
dtype: float64
label 1.000000
score 0.761864
dtype: float64
label
count 3688.000000 368!
mean 0.394794
std 0.488873
min 0.000000
25% 0.000000
50% 0.000000
5% 1.000000
max 1.000000

HZE2 A  samsung

label
score

dtype:

label
score

dtype:

count
mean
std
min
25%
50%
75%
max

0.000000
0.210754
floated
1.00000
0.74223
floated
label
3157.000000
289918
457900
000000
000000
000000
000000
000000

- k]

E0/LE xiaomi

label
score

dtype:

label
score

dtype:

count
mean
std
min
25%
50%
75%
max

0.000000
0.236552
floate4
1.000000
0.756057
floate4
label
1536. 000000
0.416016
0.493057
0.000000
0.000000
0.000000
1.000000
1.000000

score
8.000000
0.446621
0.292089
0.001258
0.198009
0.390847
0.692045
0.998416

score

3157. 000000
0.369675
0.282711
0.002066
0.124701
0.308741
0.572858
0.998553

score
1536.000000
0.452674
0.294319
0.000631
0.207641
0.417228
0.704832
0.998846
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https://www.asiatoday.co.kr/view.php?key=20210730010018273

[EYLE] OZ0| E OHZRICE- - - 'OF0|E1 2 2afofl 227 | AC Z[CH D=
https://news.joins.com/article/24115641

=28 AOEE M|ZUME E T HRE. A= 2HEQEE|AX|
https://www.etnews.com/20210806000061

[?171=52] B 2{'dS Ol X[10 M2| &=

https://wikidocs.net/94600

HAE O10'd Z2ME (2020.6~) Data Crawling (FHXISd 25t} FX[s|, OIX|2)
https://github.com/Jimin980921/Text_mining/blob/master/Project/textmining_project_crawling.ipynb
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